/" What is she wearing?

She is wearing a T-shirt.

She is wearing a hat.

She is wearing trousers.

@ YES/NO |€ YES/NO |«€ YES/NO
She is wearing jeans. She is wearing a dress. She is wearing a shirt.
@ YES/NO |€ YES/NO ‘€ YES/NO
She is wearing a skirt. She is wearing sandals. | She is wearing a sweater.
‘€ YES/NO |€ YES/NO |® YES/NO
She is wearing trainers. She is wearing gloves. She is wearing boots.
@ YES/NO [€ YES/NO |€ YES/NO

/" What is he wearing?

He is wearing a hat.

He is wearing a T-shirt.

He is wearing a sweater.

«@ YES/NO [‘€ YES/NO |«© YES/NO
He is wearing trainers. He is wearing shorts. He is wearing a jacket.
@ YES/NO |€ YES/NO |© YES/NO
He is wearing trousers. He is wearing boots. He is wearing a scarf.
@ YES/NO |‘© YES/NO ‘€ YES/NO
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